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, —
mands 'predictive validity'

mong the following typically de

\\'hiCh a

(A) ,\chievcment Test

®) Diagnostic Test

(©) |ntc|ligcncc Test

(D) gntrance Test

Which statement is NOT TRUE as per Piaget?
¢ development are intertwined

(A) Language development and cognitiv

(B) Cognitive processes precede language development

(C) Self-discovery is to be promoted

(D) The social learnin i
g environment i
nfluences cognitiv
e developme
nt



Which among the following is the exact situation where the maxim 'Simple to Complex’

is implied?

(A) Teacher presents the concept of quadrilaterals with concrete models and then goes to

the abstract properties

(B) Teacher contrasts the properties of a square and a parallelogram

(C) Teacher familiarises the entire quadrilateral family and then starts with specific ones

(D) Teacher starts with general features of quadrilaterals and then gives logical proofs for

certain properties

The primary goal of the action plan phase in Action Research is

(A) Identifying the research problem
(B) Formulating research questions

(C) Implementing interventions

(D) Analysing research findings



flexive relations are there in a set of n + 1
-many re
How man,

(A) n(n + 1)
(B) n’
©)2?"

(D) 21

The relation "division" on the se

t of Positive integers is

(A) Reflexive and Symmetric
(B) Symmetric ang Transitiye
(C) Transitive ang Reflexijye

(D) All of the above

i




2X ang g(x) =42, What jg fg?

(D) 8x3
Le

Confusing gstn
tfbe g function from 7 to Z, such that f(x) =
)% %

X + 3. Find the inverse of f?
B)x+3
O)x-6

MD)x-9
The roots of the €Quation 2 (a2 + p2) 42 4 (a+b)x+1=

0 are
(A) Real and equal
(B) Real and irrational
©) Imaginary

(D) None of the above

i the product of
If the sum of the roots of (p + 1) x% 4 2p +3) x+ (3p +4) = 0is 1, then the p
the roots is

(A) 0

(B) 1
(C)2

(D)3



hildren. If no child gets more than one

(A) 10 ways
(B) 30 ways
(C) 60 ways

(D) None of the above

Let x* + y2 2
et Y -2a(x+vy 2 - i
( Y+at=Qpe an equation of a circle. Then

(A) The circle passes through the origin

(B) The circle touches only x-axis
(C) The circle touches only y-axis

(D) The circle touches both the axis



13.

The dimensions of a cuboid are in the ratio 1:2:3 and its total surface area is 88m?.

Find the dimensions?
(A) 2m, 4m, 6m
(B) Im, 2m, 3m

(C) Sm, 10m, 15m

M)3m,2m, Im

Find the volume of a cube whose surface area is 96 cm>.
(A) 27 em?®

(B) 64 cm’®

(C) 8 cm?

(D) 1 cm?

The students in a class can be divided into groups of 2, 3. 5 and 6. What is the least number

of children this class can have?
(A) 15 . (B)20

(©) 30 (D) 60




16.

Among how many people may 429 kg of rice and

also 715 kg of Whe

(A) 14 (B) 13

() 12 (D) 10

Find the reminder when 3" is divided by 72
b ]
(\)2 (B) 3

C).S
( (D)6

I A s a n-square matrix, then
(A) |adj A| = |A]" !

(B) |adj Al A"

(C) |adj A| = |A]

(D) jadj A|= A"




I Ais a symmetric matrix. then adj Ais
(\) Singular Matrix

(B) Non Singcular Matrix

(C) Symmetric Matrix

(D) Skew Symmetric Matrix

If Ais an orthogonal matrix. then the |A] is

(A) 0
(B) Undefined

(C)+1

(D) Nane of the above

0 1

()
I he rank of A

3 1
1



22.

The System of

€ ( [\ p Ll]t(,(l
“ICiL‘lll ﬂ"d ”1(‘ ‘luf.,n]
[§ if coe
: I § \'\ ('"' |'
g I" ‘ar i o {
. dayr . aas - R y
' . Ave "¢|'|0||.\

(A) Same Rank
{(B) Same Dete
(C) Same lilcmcnts
(D) None of the

mip ant

aboye

The eigen Valueg of a skew SYMmetyic matrix are
(A) Real ang €qual
(B) Real and diffe

(C) Only real

rent

(D) Zero or pure imagiuary

ira=|1 4 »find A2 45 _ 5p9
2 3

s |
0 o0 B
(A) {0 0} ( )[0

0
®)|,




Lt — =

—>-2\x>+5-3

-3
(A) = B
5 (B) o©

©0 ) %
f (x) = |x — 1| + sin x continuous EPRIES a)RIO BaIORIRIBHBL0 B>6MBLaN1S1He) 16

A)x=0,x=1 B)x=1

C)x=1,x=-1x=0 (D) ag)g)o a0 ie8l0

X = \I/;;i" 't ) — \/acos 't

dy _
dx

a2
)w

(B) sin't.cos 't

ey \P
©= ®) Y/



28.

i. [a, b] @@ f continuous @D -
HIAE Qn mistake

ii. (a, b) Q@ f differentiable @6

iii.. f(b) — f(a) = (b — a) f'(¢) ag)0M MDA Jo MOWIBBIPIAM ¢

ag)m @
(a, b) @ OO O

iv. f(a)=f(b)=0

v. f'(a) = 0 ag)0M VAU Jo MIWIEBIFIM ¢ ag)am o (a, b) Wi NS, g
AlOSMD @OEDI O JQUMOSEIE Rolle's theorem @ilemos enimueq]s O_Iém(rﬁc:{l
G

RO ?

(A) i, il, il & v (B) i, ii, iv and v

(O) i, ii, iii, iv& v (D) i, ii, iii & iv

x = 0 Q@ x’cos(x*) ag)am function6X@ Taylor's Series expansion-ileel @oemEem,
term o®O6Mm?

16

X
(B) M

32
X

(D) g1



30.

1 1
Lt ———=
x—=>0sIinx Xx

(A) oo (B) 0
O)1 (D)

R @000i88 60} mI8amln padlad @oeaielMo ©.21QoMd algym aJooouu
Q30388 mileflensalan swo ag)®?

4R 2R
e ®) 7

@ 2R’

V3 P73

F— . o oK WY~ 0
Y =+/3x-2 ag)™ curve 6\ tangent 6 equation ag)am? 0 tangent 4x — 2y © 7
2g)(M BOEUF MVAODOMOE.

(A) 48x — 24y = 23 (B) 48x — 20y = 24
() 2x~y =2 (D) 2x +y =2



y=2-x2 ' s
X“agom Paraholy q, P18 regeon-6ah O ﬂrn)mﬂﬁ‘)G‘r’Qo

29) (™ ? doy=_y )T BOELGRIO EO°

A3/
4 B) %3

™ %
X (y
R ?
(A) p = sindsing (B) p = 2sindsin®

. |)1 + 22 - s a2 - = i
S ical co-or ate @0 68wy (TuMOLIDEN O
I agym NoammNeR spherical co-ordinate -@0 986 (10 )

(C) p = 2cosdsing (D) p = 2c05$c0sO

J
sup |1 - !/;].nz:N}_ 2

(A) 0 ® Y

O)1 (D) 2

@269 ©B0SIOBIARIME® uncountable set-a ©BOANM6Mo R
(A) Rational Numbers

(B) N x N, (N — Natural Number)

(€) adgzy@Blmyo BMIMYo eoswilelyes real numbers O 6Mo.
(D) Z-set of integers



Sequence {S_},S, =(-1)" +1 neN

{Sa} 0@ ellallg cal0@lB)e8165 ag)emo
(A) 1 . (B) 2
<)o (D) ®@momo

l . s
Z,TP ag)om aUIBIY converge ©.2JQI0MY ag)8sl@d P @ie)s value ag)am:

(A)P>1 (B)yP<1

O P<i1 (D) P> 1

o

l v
= ag)0m avl@lon
nzl \/;+ 1 Q)
3) Diverse 60 ,
(A) Converge 6219)30m3 (B) Diverge e).a1q)y0m,

y D) Oscilates infinitely
(C) Oscilates finitely (D) Oscilates infinitel;



Slol@ olldaan allg)
@ aJO@YM @
R domain @@cm&g‘@ 'f' ag)0M function @90

R,
f(x)=1

X —rationa]
=0 x- irrationa| o
MO/ O M@ RAOWEOD
(A) "Mégg(ﬁmﬂm% continuous @6

(B) f &y continuous @6M

(O) f, R-a} continuous @6

(D) f, R-@} continuous @np)

PAWOW conditions Q®? 5 .
- 12, b] @16 constant function R[a, b] o @mu InCOmIOIete an
- Rla, bj@flees function [a, b] @@ bounded @6 )

3. [a, b] @le)es continuous function R[a, b} M(f% =
- [a, b] Qe step function R[a, b] W@ 9ens Ol

(A) 2g)RI00 R@losn E) panjaamiog

1, 2,4 ena aalooem (D) 1, 2, 3 sncu vo@lawoem
(©)1,2,4



Absolute convergence test 6.2J@ oM@y DaIBWOUIYOED test ag®)?
(A) Root test (B) Ratio test

(C) Abel's test (D) Integral test

©36¥ OEISIOTIAIIM@IA agymoeny —16 6@ 4™ root

(A) V2(~1-i) (B) 2 (-1 —i)

(O) %(-1 +1) (D) (2 +i)

Real part constant @ 630} analytic function @06 f(z) a@%ﬂm’%
(A) f, z &) function @6y

(B) f, x &% @0(®o function @6

(C) f, y @26S @0(®o function @eny

(D) f &30) constant @er)




@06y Qﬁ’osé(mﬂ“ﬂ‘ﬁ%mmm@ o060 2+ 4j + 5k @E6S @MIGOHAIBRD?
5

3 4
(A)——i+—>_: 5 2 ir—=jr—
. j+= B)3/5  3J5" 345

5
542

k

4 . 2 .
ok == 2 p
(D) 5J2  5V2

60i+3 J,40i- 8'li"; Fi 52 Og)mﬂ che;g()&&(ﬁ @@,og](rﬂco)fé @D HH6ME)D B TD

(A)B=-20 - 10 . :
B)p=1 Ans is not there in

© ? - o ®B==4"" the options .
2i-j+K, i+2j-3k, 3i+aj+5K g OAUSROIHRD  BB0ROMOB @D66M 8@
‘a’ Q6OS d3elyo
(A)-1 (B) +2
(©)4 (D) -4
t=2 @em®BI@ x = 2 + 2,y =4t — 5, z = 2 — 6 ag)M SR pag @emg
ROMORM OISR @R6NY

A L[;+1+k] i(2|+;+f<)
(A) \/5 (B) \/g

11(A, 5.8 [ [

(D)?(H”k] Ans is n.ot there in

(C)";' 2i+2j+k



d’r
390 b 9o eL:06mMauaf 0[O0, T =ae™ +be™ 9o @amBId 37 ~ 25T aoem

(A) 4 (B)3

(C) Zero (D)5

X v, z 0 ellalg V = [2, 3] x [1, 2] % [0, 1] @@eeme:)dd IHS\‘zd\ - Mlomyo88

QU JOqjo @6y

(A) 15 (B) 50

(C) 25 (D) 51
Y tarl(y—x-ijz) @YE6EMBLI @D y
dx dx

(A) y — ex = tan cx (B) y + ex = tan ¢

(C)y+cx=tan'c

D)y—-cex=tan'¢

Qstn
mistake




Wy (N? +y Hdy =0 QYOS (i)n'l)i)(z‘,l(\&nﬂj(ﬁb @6
3 -
() (B) y = 3\”02(\-\)

(C)y" = 3x" + log (ex) D) xy* + 343

= log (cy)
DOV (\\a‘msg\mmﬂ(tﬂ<G(03,0”T§Q!(Qﬂm% AR®I6N
A OMDaM YD 6@ ey atiR 2 Oafles x
U NN HD @ren

efl o) QR BMNYe
@dbmﬂam(@(w(@ Lo

u"\' ;
(A)—+axy=e¢

dx (B)

. dy s
(C)—+xy=e¢

dy
D), v
dx ( )dx s

dy .
Sty Xy =e?
X

0

2 B

1
2x
(A) 213

1
=3 @B 8x° + 5 B06Ms

(B) 216
(C) 180 (D) None of the above
YT deneyalSleeomaiimosns
DAIGIUI B9 oM@
(A) ERdloag)es ol (B) ol

(C) emoaud (D) a00Bemo6m e Bl



36.  ®082 610801 Blee M (abld@:jodad] cuslenySleny 8@ emouslomd o

.\1@0(&% \ 3- ‘\ 5-17 \ 7-9 \Lﬂ
looud | 2 | 4 | 3 \ 17

57. X — @& ssoib(uﬂcsmg" @oq}g snpdcuellon @oqld @oeg)s:ldd ceiocud ellaleq?
Y = @&0800bullemy &omisalosasles @ ymeaglal adle:)mmile:ego @emE T
@O SO @6

(A) aBlnieQoIno (B) ([afldodaniledal

(C) Bl Gatosflnen (D) eglad



(C) guomawodauy WlaNlewanm

el algaoila] (n)srﬁg,mns'loeo&mm%ﬁ QnJ(‘;CD)O(Iﬂ&@&(Tn

(B) enlo® 01030 eeRIM 2100530
(D) aGlMIBRINODL0 611D 210BZ0

@) G“O ROAIMO @35 EVBOM OMlad alomo@il. ey
M 0@ 1) 1510 ) 0630 T OMeead O™,

(©) 34° (B) 96°

(D) 216°

Almde) @
alOaHm (Gmg«ﬂmm&gg s e @oeal
(A) (GToco'l(m“@qude; ANod 3 =) 83

(B) dflcd aullafle@anad
(D) dlalad



OMOGIOT M s’ auslonsien S

(A) @oalsioadles dld > dusiom > e 106m(Sles Blad
(B) @nal®oaglses dlm > emas > dlauslod

(C) eoow < Al < @aloeagles oflm

(D) @@ > el > @edmnage; ol
IO HBISIAMBlHE M U@ agy®moaT) LTI HEM®O

(A)B.<0
(B) &xd@g0milend @od@mao Milea(s] @og) ag)amosny

(C) M YMQY @OAMOBOHHION@ vl ag)moen

(D) 80y alaEles almislen 33ad0Y B, =0 @DH00
6304 a@w@mom@o alOm (@10 BROQY OO B I0AMMA B8R Haoa)

Ss0maas slatosuenield] @em
1724
2 ®) 1024
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1023 (D) BOM0g

©) 1004
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121
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16

(D) 8Mimp
(C)
121

oare @ open source (m@coﬂg,&gg@” Q®I6T
MW n,le’D‘gmﬁ Statistical Software
(B) MATLAB
(A) SPSS
(D) spemomyag,
()R Software u

0O @RORIBIM noflae 3
53®2 unbiased coin, head &53M®UE N[ @)%]@ o3 @%Gm
QQJQB&(TTW&- @D3Y toss@d head &gof) I
Probability agyrmoidlenyo?

@QJG:’",‘E'}L b

toss 6?;;;» -

1
(B)3
3

(€3 04




80} random variable 6)(@ allel og)@;()@@ml:)‘?&o

(A) 8@} +ve integer @Rleles o (B) 80 +ve real number @R e9);0

(C) 8@} integer @Qolen)o (D) 80} real number @@mﬁmﬂc}@éo

‘A’ ag)Mm event 8OIR MM 0JO@ 10 AUdaYo QUO® aﬂoﬂ%ﬂro%e@ovo ag)Mame

"B agim event @egaommied @00y oMy mym@ 10 cudasio cuse glafafid
Qg) MMM @6,

3 2 A s
P(A)=75, P(B)=73 @O0 ‘A’ @)0 ‘B’ WJo independent @YW o EROM ™

10 QUbau@Bmasl@ oams)ealnyo 2B WSWOMIE] probability

2 3
(A)T5 (B) 5
1 4
(C)3 (D)5

6304 Poisson random variable O variance 16 EYHMBLI@ EOWIOM mode
(A) 16,17

(C)4,5

(B) 15, 16
(D) 3,4



y AeS joint pdf
y) @} pdf WO s OR

f (XQ _V) =6 (x — \)' 0 < y<x<l O@maﬁ (X,
marginal pdf
(A)3x*,y<x<1 (B) 3x3,0<x<l

(€)3xy, y<x=<1 (D) 3XY- 0<x=<1

X,y ag)(ilal independent random variables @@Q»L0 VY i
@DEEMEHITD 4x — 3y @OS variance

a1 (B) 7

0o (D) E00IO@OM0e)

-8 fr:-’?,)fu&,f);(@)(go

14x + 12y — 3 =0, 12X + 21y + 10 = 0 ag)alas (X, ¥) @G Bivariate r.y 6@ regression
lines @6)6MB:I @D x, y ag)omilay (E)am']ej&g@ correlation N

(A) 0.7 (B) - 0.7
(©)o (D) 1

‘n’, ‘p’ ag)Ml a100dlQO)ee 88 6oy Binomial r.v &) mean, variance ag)omilcu

4
WLOd(d»mo 4, 3 ag)(MlQI@OOEMEI@ ‘n’, ‘p’ ag)(MIQUIWROS value

2 1
(A) 4,3 (B) 4,3

©)6 : :
)63 (D) 6, 3



6304 normal curve @ x, ag)0M point OF AULIGIOICO®D area 0.6, X, ag)(m point R
EDS@IOUWEO®D area 0.7 @DEEM @D

(A) x, < x, (B) x;> x,

(©) x;=x, (D) x;+ x,=1

Heterogeneous @@ @@y population &M homogeneous (iajeeo®l MIElal sample
0G)SIBO LM area @)@

(A) Simple random sampling

(B) Stratified random sampling

(C) Systematic sampling

(D) @m&@om&m%




F — distyrj .
l\tllhuh(m OM mode @%3@}(3@0&950
(\) (Ll‘xéacsmomﬂ((ﬂ

H910 (B) 80l@d &, 0000f@le6 )0
(« )GBM)T)(M(&@@&O

(D) socue@omM@e)

63 y i
XG0l Standarq normal ra mom)sx};]m% X° 63(“@ variance
(A0 (B) 1
t agom Statistic, agyom

0" ag)(™M population parameter 6&@ unbiased c“im‘”’)r
@OOEM 83l D

(A E @) =0 (B)E (t}) =0

OOVit)y=0 (D) E0QUOQOMMYDE)

N ag)m random variable, ‘n’ degrees of freedom ©&8 t-distribution @6y fil
O2J1QumMmemsslad x* e distribution

(A) t - distribution with n? d.f.

(B) F - distribution with (1, n) d.f.

(C) F - distribution with (n, 1) d.f.

(D) Standard normal distribution



630} statistical test 60 power ag)(N®
(A) Pr|Type-I error] (B) Pr|Type-II error]

(C) 1 = Pr[Type-I error] (D) 1 — Pr|Type-1I error|

Consistent @@®Jo ag)MO@ unbiased @OROBH@IMOW statistic

(A) Sample mean (B) Sample variance

(C) 800 ©6NBMO6M) (D) 80QUO@OMYDEY

Sample value 6)(@ measurable function 6)(@ Gal®d
(A) Statistic (B) Parameter

(C) Estimator (D) EDQUOHWIMMIDEY




83.

‘6t agYaslay «p»

‘" ©0D varianc
e g

(A) t, M t, Aflemess@ ef)
(B) t, ' t, e efficie

(O) ¢, Mo t, Mo B3&M ¢

MEOIR 3001 @ReemsI@d
ﬁcicncy ({-},&S&(b‘)ﬂf&
ney dss)oad

fficiency

(D) DAUO@OMYme)

Reproductive prope

rty ORIO) distribution ®06Y¥ alOW

(A) Normal distribution

(B) Poisson distribution

(C) x*~ distribution

(D) Exponential distributiop

G)M parameter 6P unbiased estimators ey .

Y 0% variance

$M il W®6n7s




Which among the following are associated

i. Vaikom Satyagraha

ii. Salt Satyagraha

iii. Travancore Legislative Council
iv. Malayali Memorial

(A) Only i & ii

(B) Only i & iii

(C) Only i, ii & iii

(D) All the above

Which of the following are the essential
i. Self-Suffering

ii. Non-Violence

iii. Truth

iv. Love

(A) Only ii & i
(B) Only

(C) Only i, ij & iii

(D) All the above

with K. Kelappan?




'Van Mahotsay' i are Correct?
¢s about Vi
entd
statem
g

olebrated across Indj
al ce

ain the i
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Anny

ing and Botanist.
al tree-planting vil Servant an

1'S-Rﬂndh

Pr“&ram,
. - \
i It Wag Iaunche(l in 1950 b}
and g

‘00d.
iv. Thc

R &
awa, an Indian

CMLMunshiy thep Union Minister for \g
K.M.

"k‘uh,,r

. S * . ‘ ')

tocal people INvolved ip Plantatiop Drr-;“
()]

”l)_ic(‘ti\'c IS to keep

cn\'ironmcntal awareness.

(A) ()nl_\' L ii & iii

(B) ()nl}' il & jy

(C) ()nl_\ i i

i & iy
(D) An the

drives ang

abhove



Which of the

S ooy "\“'-”l\‘\hi Move

! i nts regarding the

Inllmwng Statements

1. I'h(. S““(l(‘\hi
Ch

ment’ is corree
as launched as g response to
movement was

apekar brothers.

ii. V.O. Chid

the death Sentence o

'
5

- - SW '.Hll'\hi maoy cment ill .\H!Ilh Il'('?v
. - ‘ ¢ ‘l.l(l\l ol ‘h! )

' 'l ()II\'II|;|| \rt’
- o the "Indian Society of
agore foundet
traditiong of India.

(A) Only i
(B) Only ij
(C) Only iii

iii. R;ll)in(lrzm:llh l

Lo revive ANCien g

(D) None of the above



Vhich of the following statements isare correct regarding "Wholesale Price Indey' (WM

and "Consumer Price Indey' (CPI)y?

i > . ‘Pl ara ac (N . * o

L. WPI and CPI are economic ndicators used to measure inflation.

1 » . v M "~ . 0N

i In WPL, the weight is bascd on average houschold expenditure taken from consund
expenditure data,

iii. In CPI, the weight of items is

based on production values.
iv. CPl includes services, whereas W pj does not include services.

(A)Onlyvi &ii
(B) Only i & iii
(C)Only i & v
(D) Only ii & iy



Which AMong the
a3 @2
LT are correc t:

2 : ~movements ip Ka.
lnll(mmg statements about labour’ 0 n I\(la|

2 e ; . .
i. '"Thozhilali' v, the officig) journal of the Trayancore L.abour .\s\oc.;,”“n

il. Arva Pallam wasy

Union in 1938.

APATCOf the strike oreanised by the Travancore ¢ o
I Fthe strike organised b} |

atory Workers

ii. K.C. George was the first President of the Travancore ('ﬂmmuni\l Parq,

iv. T.K. Varghese Vaidyan

Revolt.

p C g jia tant leaders of the p :
IS one of the import he |llnnu],y;,_\';nul:n

(A) Only i & i
(B) Only ii & iy
(C) All the above

(D) None of the above



Which among the following countries h

i. Oman

ii. The UAE

iii. Qatar

iv. Bahrain

v. Yemen

(A) Only i, ii, iii & iv
(B) Only ii, iii, iv & v
(C) Only i, ii, iii & v

(D) All the above

as a coast along the Persiap Gulf?




Which among the following statements on the G7 is/are correct?

i. G7 is an intergovernmental political and economic forum of advanced democracies.

ii. The USA, Canada, Russia, Germany, Italy, Japan and the UK are the G7 countries.

iii. India has been an invited member of the G7 for the |

ast few vears.
. Ttaly presided over the 2025 G7 Summit held at K
(A) Only i & ;;

(B) Only i & ji;

ananaskis.

(C) Only ii & ji;
(D) Only ii & jy



. . re
Who amon;: the followmﬂ we
Nationa] Congregs?

i (}cnrge Yule

ii. Williap, Wedderburn
iii. Alfreg w ebh

iv. Henry Cotton

V. Annie Besant

(A) Only i, iii &

(C) Only i, ii, iv & v
(D) All the above

. ers
e fol"clgn

ho served as the President of the ‘"dian
whno ¢ b \




out Tennis is not correct.

statements ab
the first Grand Slam tournament in a single fe;

Which among the following

i. Wimbledon Championship 15
calendar year.

ix Grand Slam tennis tournaments.
J y

ii. At present, there are s
International Tennis Federation is located in th

iii. The Headquarters of the
United Kingdom.

iv. Madison Keys won her first-ever Grand Slam title in the Australian Open.

(A) Only i &ii

(B) Only ii & iii

(C) Only iii & iv

D) All the above



s/were written by Dr.B.R. Ambedkar?

Which of the following books wa
i. Annihilation of Caste

ii. The Buddha and his Dhamma
iii. Thoughts on Pakistan

iv. Whar Congress and Gandhi have done to the untouchables
(A) Only i & iv

(B) Only i, ii & iv

(C) Only i, iii & iv

(D) All the above



Which Among the following is/are associated with Raj

. Atmiva Sabha

ii. Dharma Sabhy

iii. The Caleutta Unitarian ommittee
iv. Brahma Samaj

(A) Only i, il & iy

(B) Only i, ii & iy

(C) Only i & iy

(D) All the above

a Ram \lnh:m R
r|\'>'




Which among the follm\'ing statements is/are correct reg

appointment of a person as g Governor?

ardine the quar:
g |u.a||ﬁc.n:mn for the

i. He/she should be a citizen of India.

ii. He/she should have Completed the age of 35,
iii. He/she should not belong to the state where he/she is appointed,
iv. While appointing the Governor, the President is required to Consult the Cpje
of the state concerned.

(A) Only i

(B) Only i & ij
(C) Only i, ii & iii
(D) All the above



Which among the following statements

about "Mission AXIOM-4' is'are not correct?
i Shuhhanshu Shukla is the

India's first astronaut on the International Space Station,

ed varieties developed by Ke
of Space Science and Te

ii. The mission carried se rala Agricultural University and the
Indian Institute chnology.
. The Ax-4 crew includes members from India, the { SA, France and German)

iv. Falcon 9is a reusable,

- : X NANAL
twn-stzlgc rocket (lcslgnc(l and manufactured by

(A) Only i & ii
(B) Only iii & iv
(C) Only i & iii
(D) Only i & ;v



(s about the peasant move
nis

. “.mt‘ “3rg
Which Mong the following St
not ('()l'l‘yci-')

ed 1IN 1936.
LA Ing;

: . . orm
A Kisan Sabha was |

i. B

ant le “Jay <ash Naravan j
ot movementled by Jaya Prakash yanin 19y
VIS
ardol; Natvaoraha was 2 ped
Svagraha was:

v \\:‘\
iil. The Bhoodan Movement

launched DY Mahatma Gandhi at Pochampa"i X

I Clanaan..

kim Chandra Chatterjee, portrayed the
an

Sl]ff('ringg 0
iv. The Play, "Ny Darpan' by B

f
in(ligu cultiy

ators,
(A) ()nl) Lol & iii
(B) Only i, i & iy
(C) Only ii. i & iv

(D) Al the above



100. Which level of thinkine is aliened with 'the expectation for a student to articulat

underlying concept and process in mathematical induction'?
(A) Remembering

(B) Understanding

(C) Applying

(D) Analysing




THANK YOU




